
Instrucciones de montaje · Assembly Instructions

Tipo D LF 2012 colecho
5028951

www. .com 1

ES · IMPORTANTE: A CONSERVAR PARA 
FUTURAS CONSULTAS.
LÉASE ATENTAMENTE.
EN · IMPORTANT: PLEASE KEEP FOR FUTURE REFERENCE. READ CAREFULLY.
FR · ATTENTION: CONSERVER POUR CONSULTER AU FUTUR.
IT · IMPORTANTE: LEGGERE ATTENTAMENTE LE ISTRUZIONE. TENERE PER FUTURE
CONSULTACIONE. 
PT · IMPORTANTE: MANTENHA PARA FUTURAS CONSULTAS. LÉASE ANTENTAMENTE.
R · ВАЖНО: СОХРАНИТЕ ДЛЯ ДАЛЬНЕЙШЕГО ИСПОЛЬЗОВАНИЯ. ВНИМАТЕЛЬНО 
ПРОЧТИТЕ.
A · لامعتسالا لبق اًديج أرقا .ةعجارملل ظفحا .ماه

CN ·  重要事项： 保留以备将来参考， 请仔细阅读。
ES · NO APRIETE LOS TORNILLOS DEL TODO HASTA TENERLA
COMPLETAMENTE MONTADA.
EN · DO NOT FULLY TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED.
IT · SERRARE LE VITI A MONTAGGIO AVVENUTO
PT · NÃO APERTE OS PARAFUSOS COMPLETAMENTE,ATE TER COMPLETAMENTE MONTADA.
R · НЕ ЗАТЯГИВАЙТЕ ВИНТЫ ДО ОКОНЧАТЕЛЬНОЙ СБОРКИ.
FR · ASSEMBLEZ LE BERCEAU AVANT DE SERRE COMPLETEMENT LES VIS.
AR ·  بيكرتلاو عمجلا ةيلمع نم ءاهتنإلا ىتح يغاربلا دش مكحت ال. 

CN · 在完全装好前，不要拧紧全部的螺钉。



DX2CX4
(M6x17)

FX2 HX2GX4
(3/16*27)

EX8
C06757C10638

C00137 C00153

C02419

IX2
C010242

          Jx2  

AX2
C02953

C14222
      KX1

C14223
       LX1

30 min.X1

www. .com 2

1X2

2

3

5027748

X4
(M5x35)

C07555

X4
C02419

4

BX4
(M6x35)

C07893



1

www. .com 3

2

1

1

3

5027748

C07555

X4
C02419

CX4
     (M6x17)

C10638

AX2
C02953



X4
(M5x35)



3

www. .com 4

4

2

BX4
     (M6x35)

C07893



5

www. .com 5

6

C010242
         Mx2  

C14222
      KX1

C14223
       LX1

BLOCK

ATTENTION!!
BLOCK

ATTENTION!!

POSITION

EX2
C02419

IX2

JX2

DX2
C06757

1
23

3

GX2
(3/16*27)

C00153



www. .com 6

C02419
      EX2

C00137
      FX2

F 
E

G

7

GX2
(3/16*27)

C00153



www. .com 7



www. .com 8


